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1.

5

SECTION - A

i) General Awaraness

Present President of BJF is

{(A) L. K. Advani

(B) Rajnath Singh

(C) Amith Shah

(D) Venkaiyya Naidu

The 'Boutique Bollywood Actor

Rahul Khanna, who acted in
“Firaflies” is based in

(A) Los Angeles

(B) London

(C) Mumbal

(D) Singapore
4

Former Tamil Nadu Chief Minister
. who was accused in
disproportionate asset case in the
lsadar of AIADME party.

(A) Jayalaxmi

(B) J..Jayalalitha
(C) Janaki Amma
(D) None of thasa

PSLV stands for

(A} Private Sclar Lighting Vehicle

(B) Powerful Solar Launching Vehicle
{C) Polar Satsllite Launching Yehicle
(D} Polar Satellite Leading Vehicle

Satish Dhavan space centre is
located in

(A) Hassan
(B) Cochin
{C) Trivandrum
(D) Srihari Kota

B.

10.

In tha alections recently conducted 1o
the Maharashtra State Assembly,
_ emerged as the third
largest party.

(A) NCP

(B) Congress

(C) Shiv Sena

(D) BJP

Capital of Afghanistan is
(A) Kabul

(B) Kandahar

(C) Herat

(D) None of these

Which one of the following is a
Non-UN member 7

(A) Malta
(B) Greecs
{C) Palestine
(0} Dominlca

Wha is the currant Secretary-Genaral
of UNO 7

(&) U.Thant

(B) Ban Kl-moon

{C) Trigve-Lie

(D) Jan-Ellasson

Greatest fiimactress ______ . who

married actor Sunil Dutl, was
nominated to Rajya Sabha.

(A) Nargis
(B} Mutan

(C) Shabana Azmi
(D) Sharmila




-
T O

3

A*

JOD-3IPGET-PUNJX-14
o
) W AR
HfEt & THAH HEIE T 6. TFIETEl § WO BY WEATR U= & faaE
(A) WA, . s il sl S— L L
" Rie T & T H Il |
= (A) efnd (B) FHE
icy e © frmEm ()
(D) Sy
. 1 7. srETREe = e B
i aiferge siftrm’ gerE=n faed &)
A H P e, TR T .
| : (B) F=Em

(A) HETRE  (B) WA

. (C) #
(C) Het (D) Ty i RO
COEE] digardl B ) )
o ST ST 3 T S E R E = R E e R e e A
mar # s T vadugiunss 9y ) (A) wTET (B) T\
T (C) oA (D) Eifefm
A R U
(B) . e i :

A s SN
) TR ®) F-F-m
(D) 579 & w18 e ) F-eh
e w0 2 (D) -
(A) WigEE Hie FRR S 10. T ERRE , Forrt afieran
(B) WEREE HieR St a5 Hive za @ wd it o Bl = wa
(C) wiem H2emse Sifan S foore it Ppm oy
afir e st s we e R (B) T
(A} A (B) Fifm (C) ¥R 3T
icy fem (D) fedFm (D) e




JOD-33/PGT-PUNJ/X-14

11.

2.

13,

14.

15.

A

Abhinav Bindra, who won goid in 2008
Befiing Olympics, Is assoclated with

(A) Boxing
(B) Swimming
(C) Weight lifting
(D) Shooling
Owner of the company that makes
Reva slectric car |s
{A) TataMotors
(B) Suzuki
(C} Mahindra and Mahindra
(D) TVS
L]

'‘Dead Sea' is located in
{A) Phillipines

(B) larasi

{C) Lebanon

(D) Haolland

‘Children's Day’ s cbsarved on
(&) Jan, 30

(B) Oct.2

(C) Jan.26

(D) Nov. 14

Raja Ravi Varma was a
(&) Painter

(B) Musician

(C) Dancer

(D) MNone of these

1B

17.

18.

18.

"
O

Bihu is a folk dance from
(A) Tamil Nadu

(B) Kerala

(C) Assam

() Gujarat

is regarded as the architect
of the Indian Constitution.
(A) Jawaharal Nehru

(B) Bala Gangadhar Tilak
(C) B.R. Ambedkar

(D) C. Rajagopalachari

Which of the fallowing is not a member
of SAARC 7

(&) Bhutan

(8) Mepal

(C) Thailand

(0} Pakistan

“The Story of My Experiments with
Truth” was written by

(A} Rabindranath Tagome

{B) Mother Therasa

{C) Mahatma Gandhl

(D) Pt.Nehm

Which of the following is an output
davica 7

(&) Printer

(B} Mouse

(C) Keyboard

(D) None of thesa
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AT 2008 ¥ Wifam e § gavl =
i i e sa ae S watEa §

(A) AT
(B) A

(C) v e
(D) wfém

a1 oA I AT S A
(A) AT

(B)

(c) wiesrTEweR

(D) &=

‘qﬂuw.‘ﬂ'ﬂffﬁm%

(A) TiETEE

(B) $=iE

(C) wE=

(D) wier=

‘s Fmm’ wm Tom s s &
(A) 30T
(B) 23Tt
(C) 26
(D) 147
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TAREEE

16.

17.

18.

19.
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pmmmw Tl
(&) AR B) ¥
(c) swm (D) TEE
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(A) TETETEIE AEE

(B) A= TR e
(C) . R, I
(D) . TrErETE

=1 | § F19 @k (SAARG) 1 Hae
£ A

(A) YR

(B)

(C) wmEeis

(D) i _
1 w21 2T Ay T faa e
FoEE Y

(A T AR

(B) WET G

(C) W

(D) AT
P8 sy feaes B 7
(A) T

(B) H3H

(c) =

(D) T & =rd TE
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1) General Intelligence and Reasoning Ability

Directions : (Qs. 21 to 23) : Choose the one 25. FAVOUR : GBWPVS :: INFORM: ?

which does not belong to the group of other (A) JKLMNO
: (B) JOGPSN
21. (A) East {C} JGOPNS
(B} Mouth (D) JPOGSN
(C) South
26. 18 22 17
(D) West
5 15 12
19 7 T
22, (A) Square
(B) Rhpmbu AL
3
(B) &
(C) Trangle
. (G 7
(D} Parallelogram
oy 8
23. (A) Mother _
27. A bus for Mysore leaves every forty
(B) Brother minutes from a bus stand. An enquiry
(C) Father clerk told Raju that the bus had
already left ten minutes ago and the
(D) Nephaw

next bus wil leave at 10.50 a.m. At
what time did the enquiry clerk give

24, Stammering : Speech : : Deafness : 7 this information to Raju 7

(A) Writing (A} 10.05am.
(B} Jumping (8) 10.35am.
(C) Hearing (C) 10.30a.m,

(D} Running (D) 10.20a.m.
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i} T e men Ay T
Freor : (m. 21 9 23) ; w o0 F TR B @ 25. FAVOUR : GBWPVS :: INFORM : 7
EEEIE Sl (A) JKLMNO
21, (A H (B} JOGPSN
@) g% (C) JGOPNS
) R (D) JPOGSN
(D) wiv=m
26. 18 22 17
' i 5 15 12
@ W 13 7 7
(B) HHEIHA (A) 5
frprr
IC) ® 6
(D) HOFE A e 7
23 (A) W ) &
(B) o7 T e W ATeEd e w g
(c) T ¥ T wm Feperdt 21 7/ 1 SR
werk i 8, T T e vE
(B} el Frere 1 B = el @ 10,50 a.m.
1 Franf] | e S T A
24, FEHE At A s A RS 7
(a) Tomsn (A} 10.05am.
(B) TFE (B) 10.35am,
(C) (C) 10.30am
I:D] T (i 1020am.
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28.

In & certain code, language, 4,2.3'
means bright fttle boy', 1.4,5 means
1all big boy’ and ‘6,3, 7" means
Which
numarical In that language means
‘bright’ 7

(A) 7

‘beautiful little flower'.

B) 2
(C) &
(D} 5

4%
Which  letter should replace the

question mark in the following seres 7
GHJM?V

(A} Q-
(B) P
(G} O
(D) R

Choose the one which does not
belong to the group of other thres.

(A} Violin
(B) Guitar
() Tabla

(DY Veena

31,

aad.

Vikas starts walking straight towards
East, Aferwalking 75 matras he tums
to the left and walks 25 metres
slraight. Again ha turns o the left,
walks a distance of 40 metres
straight, again he tums to the left and
walks a distance of 25 matres. How
far is he from the starting point 7

(&) 140m.
(B) S50m.
{€) 115m.
(D) 35m.

If the first and the second letters in the
word "accordance” wera imterchanged,
also third and the fourth letters, the fifth
and the sixth letters and so on, which
of the following would be the 71 lstter
from the right 7

(A) ©
(B} d
(C) e
(O r
Which of the following words cannot

be formed wsing the letters of the word
*QUALIFICATION" 7

(A} LIFT
(B} LATE
(C) FICTION
(D) FAIL

e




op, TfififFERE amd 1,23 FTaa0a

2 ‘srez Bem amm’, 1,45 1 AaeE B
‘ot fom wly’ & 63,7 1 wAEw E
sl fves AT | 30 aTE s
* Rmamasnd 7

(A} 7

B) 2

(C) 6

(D) 8

e gaen @ s fag &1 =T S
S T AR 7
GHIM?V

(&) Q
(8) P
(€) ©

0y R

w1 A1 R e e it |
(A) TP

B) fEw

(C)

(D) =

11-

31.

33.
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Fererrer = g f2om o) a7 =rern sy
Fan # 1 75 W2t wed % W 9
AN g N 25 W ama B | e as
it S gE WY 40 Hie =em #
fis = et sin gz i) 25 e )
i i = & | e =98 A g
Pl g g

(A) 1404

(B) S04,

(C) 11597,

(D) 354t

a2 "accordance” 15 % Weet af gHl
S AR L B e A e e e
e At ol e s gied w9
ST M| T TR S A S =
AT —HE dhl ST 8, T e A
ey iRt A H T T R
(A) ©

(B) d

(C) e

Oy r

"GUALIFICATION T2 § & 31801 &1
A F S ° W S e T
A A HFAIE 7

(A} LIFT
(B} LATE
(C) FICTION
(D) FAIL




L

JDD-33/PGT-PUNJ/X-14 R0 ER T AR A1 A

34. Inthe below given series how many | sg  |nthe following alphabet, which letter
Frcars praceded by 5:and followsd is 10 to the right of the letter which

by27
§753145726085734063265215738 7 Is third to the left of K 2
ABCDEFGHIJKLMNOPQRSTUVWXYZ
(A) 3
By 1 (A) 5
(Cy 2 @ Q
(DO} 4 i B
Directions (Os. 3510 37): PQRS T Uare (D) T

sitting in a closed circle facing the centre. T is

othe loft of S. Risbatweon P and Q. U | o i iailer i Supsar but shiofier

batween T and P, - i |
5. WhoistMheleftof Q7 than Umash. Umesh is taller than
(&) S Rajat but shorter than Ganesh. If
R Sunderis taller than Rajat, who is the
e shorest among all of tham 7
c 7T
D)y P (A) Ralat
Eanesh
36. Who is 1o the right of Ft 7 (B)
Ay G {C) Umesh
B) S (D) Sunder
c) P
o/ 40. It means ‘<’ '~ means '+ and '+

means ="' 5+4-1Bx3="7
37. Whao is sifing diametrically opposite

oS 7 (A) —34
(% Q (B) &
() F c) 14
() R

oy T (D) 26




S

34, o gEen d vE e 72 w5
panamAze 7

9753145726085734963265215738 7
(A) 3
(B) 1
(C) 2
(D) 4

fadw: (v. 358 37): PQRS TUTHFH #13R
wfinpE R FU AR A4S § | T 9 S = #in
PIpmpanoRdR AR I UTETINPF
ClEE G
35, Q@ TEl ALHEA LT

ws

(B) R

(C) T

oy P

Rzl smame?
(A) Q
B} S
(C) P
oy T

37. %=t e FE a3 E
(A} Q
(B} P
icy R

o) T

<13

a8.

28

£0.
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T aviaren | K & amfi st de s
=1 ETiEAT 2T S e e 7
ABCDEFGHLUKLMNOPORSTUVWXYZ

{A) S
{B) Q
(C) R
oy T

Torrma 7% B9t § 1 @ @il W A
TR | T AR T & T @ e e
b sRgmeEmadat A=
afig TR AR FEE 7

(A) 1=

(B) T

(G} 3

(D) H

7l ' o e R, e R
MMy TR N, 5+ 4—18x3=7
(A) —34

(B) &6

{C} 14

(D) 26




= — —_ : - =

L T
JOD-33/PGT-PUNJ/X-14 Ry
iii) Arithmetical and Numerical Ability

1
41, Syears ago, the average age of A, B, 44, How many —'s are there in 371: 7

g
C and D was 45. With E joining them (A) 300
now, the average age of all the fiva is (B) 400
48 yoars, How old is E 7
(C) 500
(A) B4 years (D) MNone of these '
(Bl 45 years
(C) 25years II"I'E 59
(D) 40 years % V7 s
4
42, A man spends Rs, B,100 in buying &) 8
tables at Rs. 1,200 each and chairs {B) 12
at As. 300 each. What will be the ratio (C) &4
of L“?lau'rﬂ to tables whan the maximum (D) 144
number of tables |s purchased 7
A 104 - e
e A V32 448 3
EE} -7 ¥ -,.':E.- " 1.'|-'|E i=f
(C) 1;2 s
(A) 42
(D) 2:1
{B) 2
43. Onatoura man travels at the rate of C) 4
&4 kmv'h for the first 160 km and then (D) 8
travels the next 180 km at the rate of
80 ki, What s the averaga spaad 47, The length and breadth of a rectangle
{inkervh) for the first 320 kim of the tour ? are 8 cm and & cm respectively, Find
(&) 3555 the length of iis diagonal,
(A) 12cm
B) 71.41
{B) 11em
oy 72 {C) 2 om
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41.

42

43,

A*
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iif) srFTitTH T v wieE T

dia i qd A, B, C 3D F 3w amg
45 91 | & I E e w1 e I
Fm 37 il i 3o w49 =9 6
AHe | EFtang ez

(A) B47Y

(B) 4599

(C) 2549

(D) 40=H

o s wha s 5. 1,200 30 vl Fh
5. 300 WH WA N5 8,100 =
FN B | =W TR A e § A
it = ¥, o O # we ot i
A9 FE 7

(A) 1:4

(B) 5:7

(G) 1:2

D) 2:1

T L T T SR A Tt

160 7. ot A e & ot fgm i
# ot srelt 160 R, oY, ) 20
B0 . 0. fea i & ghamnd o
A% % wwet 320 &R H1. o i sim
nfa (F5. F1. /o /) fredt off 2

(A) 35.55

(B) 71.11

(C) 36

D) 72

44,

43.

46,

47.

a7 | e .;1 87
(A} 300
(B) 400
(C) 500
(D) 7 & wrd Tl

49 21
V7 38
(A) B4
B) 12
(C) &4
(D) 144

'.'IE + '.I1 2

=%

(A) 2
B 2
(C) 4
(D) 8

U HEE W weEE s St e
g # H. sfed. 0.8 | 3 ol
RS WA =it |
(A) 1278, .

(C) 104. =i,

By 114,91,

(D} & #. 9.
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48.

&50.

When a book is sold for Rs. 60, there
is a profit of Rs. 10. What Is the
percentage of profit 7

(B) 20%
(B) 16.25%
€} 12%

(D) 15%

After Jeevan gave Rs. 12 io Hameed
and theE Hamead gave Rs, 4 to
Jeevan, equal amounts remained
with them. Who had the smaller
amount initially and by how much 7

(A) Hameed by Rs. 16
(B} Jesvanby Rs. 4
(C) Hameed by Rs. 12
(D) Jesvan by Re. B

7

80
7 20

(&) 50
(B} 40
(C) 30

& 20

=16

51.

52.

53.

&4.

? % of 150 =40.
3

\A) 30

9

® o
P

(€) 26
3

o) 3,

Find the differance batwsaen
compeund interest and simple intaresl
for Rs. 7,000 at 10% for 2 yoars.

(A} Rs 50
(B) Rs 80
(C} Rs. 80
(D) Rs. 70

How many commitleses of 3 teachers
can be made from 5 teachers 7

(A} 10
B) 12
(C) 8
(D) 15

How many shares of Bs, 100 sold al

a discount of 15% can be purchasad
by investing Rs. 7,225 7

(A) 75
(B) 85
{C) 95
(D) 115




48,

49,

50,

B

=1a U TR %, 60 T &+ @) 8, 74

%. 10 ST S & | T 1 Hfeea
wME?

(&) 20%
(B) 18.25%
(C) 12%

(D) 15%

w4 efm = Es 12 5. R m
elE Sl sl 4 %, 791 8, 76 U ad
TN AT TR € | U & R
Ut FH T o 2 e e A 7

(A) THRFTEE 16 9
(B) SEAFHIHT 47
(C) wRFTES. 123
(0) SEFTEE Y
80 _ 7
720
(A) 50
{B) 40
(G) 30

(D) 20

ATe

al.

b,

53
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15050 7 % =40,
.
(A o5

5

® 5

2
() 28

3
©) 3

%, 7,000 W 2 9 & fom 10% se
A wate s 3 T = s A
TR G i |

(A) %.50

(B} %.60

(C) ¥. BO

(D) % 70

5 TRt & 3 Pl & T whafd
= HEA R 7

(A) 10
C) 8

(B) 12
(D) 15

155 FT2 T =Y WEaTe %, 100 & o
s 7 e0s A RS os 87

{A) 75
(B) 85
(C} 95
0y 115
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55.

5E.

&7.

4
and —

Find the HCF of ~ ‘
3 21

=] |

12

(A) 21

24

® 3

2

© 21

3
0 5

The ra::'f of the surface areas of 2
spharas s 4 © 8. Find the ratio of their
diamalars.

(A 5:6
(B) 2:3
(C) 1:4
Dy 1:2

A wire is In the form o a square of
side 66 cm. It is bent into a circle.
Determine the radius of this circle.

(A) 42cm
(B 21em

(C) 40¢cm

(0) 36 cm

58,

B0.

A 0 A B~

Find the median of 7, 8, 4, 3 and 10.
(A) 4

(B) 3

(C) 35

o) 7

43 persons went to a canteen which
salls soup and tea. If 18 parsons took
soup only, B ook lea only and 5 took
nothing, how many took soup ?

(A} 12
(B) 30
(C) 20

(0) a8

The area of a tfangle is 20 sg.cm, If
its helght is 5 em, find the length of is
base..

(A) 10cm.
(B) Gom,
() Bem,

0 4cm.




| DS
B 8 4
12
(A) =
o 2
2
(C) ey
3
© 3

56. BTG o S — SEAHE 1 FE 4:9
# | 395 =1 1 ST Ta e |

(A) 5:6
B 2:3
(C) 1:8
o 1:2

57. Whan 66 &, @i e ¥ & i
| 3H TR WiE S R 3 e 6
Py e <t |

(a) a2 A. .
(B) 21 4.1,
(C) 40 @ .
(D) 38 |.+1.

A'-lr

o8

59,

&0.
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7,8,4,3 310 FrmfemEm v fifaw |
{A) 4
(B} 3
(C) a5
oy 7

Y SN 9 AEE O R 43
ST T © | 18 P A e Ay fenn,
8 ET A e Am et s s T Y 5w
=7t fevn 1 et =t A g Forn 7

(A 12
(B} 30
(C) 20

{0y 328

LERECai AR e o B i
MmbBEmfidaE s 4.1 24
FHh T o oS g ST |

(&) 10 4, =,
(B) 8 9.,
(c) B €. .
(D) 4 #.
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iv)} Test of Language : Hindi

Wﬂﬂﬂﬂ:ﬁ:‘qﬁ
W 61 64 ; 3R T 3w qf e | 67. (A) Imoaat amad
61, w8 forman =t foarae 34 vt (B) A il s
{A) B (B) W () wmgaelardm
(C) ward (D) W (D) =gaE
62. FERTH R RT= 68. (A) TR i wemEr
(A) SR (B) wfew (B) o mmfEnm i wam fEu
(C) well (D) s (C) S e i aera
63, 4 A 1 HRT 4 v SR S
(A) Fa (B) =vd 69, ¥t b vl e o vl v
€ (D) 9 Tt |

(A) TR (B) =

- ore 3
v TRAINER g (C) F=d (D) Toem

(A) Tt (B) Fmm

70. EEI T

9% 65 # 68 : I STHD] IE 419 8
(A) =g (B) = smar

65. (A) FavgE =1 d=n (C} =@ (D) =

(B) T3 ght = v
©) Rargiaran 71, I ¥R SgE RO R
) Ferghaaa (A) (8) urd

(C) wmE (o) A

72, TmTmE EHEm e
(A) = By =&
(C) &fEm (o) =2

B6. (A) T TF ErE
(B) TmUdiwm
(C) WA am

(D) T TR ER
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witig & | argas dfiveae w1 a5y Ted 9 150
F0] B W = e 3 e 9 |

T i SIET 1 STEE S| STl A '
araTf © v e g o ol el 6w ae
=T At e e e, T R e R e
Fie Tz T T ST YR A 69
anfen | i et 3 3 -3 i wood
7Y 30 = e g i

a7 ¥ e B Y A I e - S,
ST T 4 W 2 | S e e | S
EIEE A G ke E R s E
HTETE 3 ShEe i T gl | e 2
T T e e T |

T S T S ST o S e |
e A o o o ey A
TEAT Ty | e e S el B e
e =95 FiE — FEER, 9 B0 o R
AT T 7 I 4 | A W A 4 W
e 1 TE S A I A A | A e
T — AETHTE, P B = 0w g
Tt | e R TR TR TR En i |

73, HEHAL_ @S Y|
(A) T (By e
(C) HFTE (D) ¥

74. #EE # e ufirz o |
(&) siiemed By e
(C) =wfiwgm (D) s

A

75,

76.

7.

8.

ao.
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=] e g |
(A) (B) =T
(C) = (D) T

IR Wy F o s oI
_my

(A wE = e et e A e =i
(B} ¥TRT % =TET S e
(C) TUTEAI ST

(D) e st o g = A e

S AT I

(&) FRERdE AR SR
(B)y Toreitn st 3 wmam ard B
(C) T framads
(D) Torw e = = wrd @

3 forafe v T EEl e i)
e @ wEn gl

(A} = (B) %

(c) # o #

‘T = s el e

(A} T (B) s

(C) =T (D) =

i et v feme el B

(A) ST (B) STETTH

(C) AT (D) ST
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v) Testof Language : English
T e ¢ ST
Directions (Os. 81 to 83) : Given below ara 86. Govem
words with different speflings. Sslect the ana "
which you consider to be comectly spalied, vy e @) Chay
{spelt) {C) Control (D) Sway

81. (A) Discipline
(B8) Disipline
(C) Decipline

(D) Dicipling
g2. (A) Villian (B} Villain
{C} Vilan (D} Vilain
B3. (A) Eﬂglnlnﬂ (B} Bigining
(C) Beginning (0} Biginning

Directions (Qs. 84 1o 86) | Choose the word
or phrase which is opposite In meaning o
the given word.
B4, Gather

(A) Separate

(B) Amass

(C] Congregate

(D) Collact

BS, Kesp
(A) Ressrve
(B) Preserve
(C} Discard
(D) Lay

Directions (Os. 87 to 89} : Fill in the blank
by choosing the appropriate altamative,

B7. Silkworms feed miulbarmy
treas.
(A) at (B) by
(C) en (D) with

88. The bridge in bult————— — the rver.
(A) to (B) across
(C) against (D) for

83, He forgot his duties ——— his
children.
(A) with (B) to
{C} upon (D) by

Directions (s, 80 to 92) : Find aul which
part (A} or (B} or (C) of the sentence has the
arror. It there is no error, your answer is (D).

80. Hard work and preservance (Ajls.

indispensabia (B)40 success Inlife. (C)/
Mo error (D)

91. Halsaclever man (At urforfunately
ditfident(B)/of his powers.(C)/
Mo error (D)

92, The helr of the throne (A)fwas free
from physical (B} or meral taint.{Cy/
Mo arror (D)
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Directions (Q=. 93 to 85) : Head the passage
given below carefully and answer these
quastions.

Maresh sfond some distance away from the
school and awailed for his elder brothar
Ramesh. It was sundown and all his
classmales were coming out of the gate
chattering excitedly about the annual spors
day function. Just then, Meha was a year
senior to him came down hurriedly from the
road. She looked a bit worried, "Naresh, have
you seen my younger sister MNikita 7"

93. Where was Naragh waiting for his
elder brothgr 7

[A] inthe classroom
(B) inslde the school
{C} away from the school

(D) in the waiting room

84.. Who was Ramesh 7
(A) alder brother of Naresh
(B) younger brother of Maresh
(C) fathar of Maresh
(D) none of these

95, Who was searching for Nikita 7
{A4) Ramesh
(B) MNaresh
(C) Meha
{0} Mone of these

a7.

g8.

100.

JDD-33/PGT-PUNJ/X-14

Moun form of broad' is

(B) broader
{0} length

(A) narrow
(C) breadth

‘He axaminad caretully’.

In the above sentence, the par of
speach of the word “carefully’ is

(A) adverb
(B) verb
{C) noun
(D) adjective

The plural of Tooth'is
(A) toaths

(B] . toothes

(C) teath

(D) none of these

He has been playing cricket.

In the above sentence, the tense of
the verb is

(A) perfect

(B} pas!perfect

(C) pastcontinuous

(D) presant perfect continuous

"“Gestha sang a song”.,

The above sentence in the passive
voIce IS5

(A&) A song Geetha sung

(B) A song was sung by Geetha
(C) A song is sung by Geetha

(D) A song sung by Geetha
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101.

102,

103,

104.

105.

106.

107

SECTION - B

N A

Post Specific Subject-Related Questions
qrr -9
e vt fiwg — e T

108. mioz fefow R it

T fofom Ufpeess o ddn
=g &

(A) wfeisa (B) froafics
(C) fraaitn (D) dafaenifes
T B W U @ ool 3

(A) &a (B) fewar

(C) ow 3w (D) Buia= 7

el wee ¥ wen Rt fiw
WaE ulgenEs o faost e o

(A) waT femag (B) w»we Gazaw
(C) e Hig (D) wiEs wrgeg
fereer g 2

() wrd w5 Al
[B) wwet . afwe we weew uw
(C) Wt ufewrer. v
D) vt =iiw wimee

A 2 yfva 3
(A) Hemas (B) =eafhe
(C) wafefmire (D) worzwm

HeRt = fao 3ol 2

A kR NEGREN
Bl wwhdAweFgg ey
(C) Moo fE &8 Ea§ o
(D) M EdREENGE

I, e e = e e
T 75 &

(A) o7

(B) wat

(C) i

(D) B By T 5o =

109.

1o

111.

112,

113,

114,

HoSwyEs o

(A) BT (B) fefsmm da
(Cy wrfam 2w (D) wfifeg Ay
o & HEn for wm 2

(A) % ws (B) wyE =W
(C) wame =m (D) e 5=
ArEdt yieast At 3

(A} Arefer s

(B) wizwamg s

[E]I anrEE Saar

(D) wfmy

ar femE e v et i
TG UiRetw lam § Tisem

(A) wmEwes i sreaa

(B) 7wz ffw Jam

(C) =53w Fw s

(D) wiiEr dime

T o2 'Y iy vy 3

(A) war {B) Gvds mes
() o= (D) ==

W wE e ol Guew
;#ﬁ:hﬂ‘r;:i:-r 39

(A} SE (B) ve=ra

(C) warieh (D) =it

saweE ) fsw s el feaan
i 208 e &
(A) B d=3 = He wE g

(B) Tw 7=ar de wd 8fvs wee

[C) s & T02 e wd st

(D} W =aw, e we woa = o

T
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115. oft @ o @w v ' dt
(A) s B) M=t
(C) = (D) fifenr

116.

17.

118.

118.

120.

4 1

gele fa oo & it fr o Sully gy
vele & fedt wud m it o
e Wi o

(A) vt et & foo BfaEs o
(B) Wrma il 3 g = o e
(C) #=kw =t wedl @t =

(D) =u 5 sfst & i

W ESEE € ol et o oW dEm O
(A) = T g

(B) wim T ymt

(C) T 3 feeita

(D) e N2 et

LY

s yowiee O et € e
= Rl wd at 2

(A) w=s TAZ3 Foa o ¥y Aous g
(B) =& = fogizs vmw o doms
(C) T8 AW THEE 2 yferad WA
(D) 72w feaag T feloaw = ey

wadt afe wmIw s g wfe o
wiEht WEe ol G &

(A) (B) =
{C) o= (D) w&ast
Ut Few wE dovie we o
wiltpis fRE FiEm

(A) v dor 2o (B) voees Hw
(C) =iz wreat (D) wmils WoM

et e o gy dEE At &
(A) FurEs (B) mEhraes
(C) frmBmmavaz (D) mamwae

122,

123.

124,

125.

T26.

127.
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o5 veg o Agsr &t
(A) Toas w5 Thasa
(B) feos w3 fealez
(C) Gaar & faar

(D) v= 3 ywan

wfaraat Gt o fiflr fast 2
(A) =t (B) &
(C) Ewwmmw (D) wransedt

el GuE W Hge f O
(A) witrrar, Buz, wuTeEsr
(B) ==t wioe, Syswsy, 8T
(C) sfer, gaewys, »Bhams
(D) ufewnsy, Sum, doge

ot = e 2
(A) === yat

(B) =

(C) Fewses

(D) wrie waus

ar feEiEt = w9 o

(A) =dad, didt s e i
(B) @7, wl wEag = Ana

(C) foorm, waww, fewwrdt = Aver
(D) Sutez &8 aF &

WagREe ndus yTel ¢ e
= mdt e &t Oy

() wEd T Sl e il
Jasa e dew

(B) & ww Rdw dmw B 3
Higes iy 59

(C) el i wageien,
o e st & TR Hee

(D) Az fw 75 faws
afees fHw o=t
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128.

128,

130.

131.

132

133.

134,

& & U aued e e
= H T e

(A) Ofipot v BEE
(B) HAfew & faw Jur
(C) =T =z wide O
(D) =te Yanv A8 dux

Feawm s d7 a9 o 3o daz df &
(&) Bayuar B) fefmrmpsr
(C) yaragp (D) vaBapar

wgfea diel Ao witvds
T Y BRET 9

(A) TaERs fiw

(B) e fhw

(C) wgdes fhw Fwd

(D) === flur it

vy e d o fve
(A) &t

B) &

(C) W

(D) 28 & stz =

Ut e e owEs & forh &t &
(A} 8 (8) B
€ 7 (D) &

7 dfed & w2
(A) ¢, oy, wwed
(B) e, T=wd, gt
(C) e, wifkmmgr, FiEwme
(D) sowes, anft st

WEE wET ¥ @ vl (mmew W)
e 98 < vt ot &y
(A) gu=

(C) femem

(B) &wr
(D) foom

135,

136.

137.

138.

138.

140,

g8 & fam wfe gu e T
wlt didt &

(&) woEar w3 whe
(B) wwovmr wi =5
(C) Wt w3 Tt
(D) wimd wd fedw

e v e faw fedu v wom
(A) wv = W FF uT e

(B) Yol yiw wid umig =

(C) 2u =3 Augr =

(D) wgaes ¥ a3

vl frer v e % o o

& ¥ (o)

(A =¥ Ty O fefsows 37 3
(B) fem ==t = =t wEw B
(C) =& =t forg v & w2
(D) foo Feazr tor g9y © &

s uEad & fandt s A0
(A) 7 Hay

(B) wamsl w9 fifur

(C) famnirst fomrm fidis

(D) s i fur

HEEr »F W = & 3w 4y
(A) HA=ws w3 Ho wiees
(B) Twm % wiyw

(€) =wa = ufrer 3 g fowir
(D) mE = ufier 3wl fiowg

fordt 2 & fimd S
(A) oz T

(B) Wt A

(C) =ifew fifw 5=
(D) witew M v
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141.

147.

Aﬂ-

— o

142,

143,

144,

145.

1485,

ot fmft firdfem vl
(A) (B) S=mmamfi
(C) st (D) et

faasr wue sifesslt O
(A) . e (B) 1irzar
(C) wir D) fem

Tal uivess foe =y v
fefmimat I
(A) wivge
(C) wadld

e e dunt I3 FE B
(A) fampar 3 wramnm
(B) wzdma = guw

(C) wefsaz 3 mws
(D) fesaiz W el -

ane wed o fed guses T
R &

(A) umat & T

(B) ez ¥ wes = fimss
(C) wex & wha Tmard

(D) Bz =3 st o s

(B) T Bawwa
D) weew

e 3 At I

(&) wiworaras et
(B) wisnemma e
(C) wiawerea wa
(D) wiEmweEs u=e

Teas fefimns yzel @ gl fisw
nE I

(A) Woms goa 88 wed, v & freesw

(B) & v Fewe T8ine e Wes B2
(C) #AfhEe o wwa dEus
(D) 2t ehrses, fvs famms Soer

148.

148,

150,

151.

152.

153,
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wWERTSiE Hesy @ Adr fam aE &
(A) fefaowma aw fafimes

(B} F=omE wwr fefymis

(C) us aa fefimms

(D) Suww fafanrs

YRR WERE W3 AT e e
o Ay #A N

I:_A]' M Mr Br Ay

B A < B B

{ﬂ} Ay e AT P

(DY & AL R

‘e (ot 3% wele, vt oz
TE it st Saells =

Hdn faw =E @

(A) Aramy we (B) 8w
(C) =& &= (D) o &
faoer wt =0 &

(A) ﬁﬁaﬂa’iﬂmwiﬁﬁ-mm

(B) fedaly oi=w pud s 2 42
fegas

(C) fedwilz wizn f= wog ad &
(D) fedzlzy wimy & diee @ 92 o

T Edle § ufod uEm gt w5
fank e Oy

(A) == i &t (B) <hew Fw
(C) = (D) weT fw

“Bd oot whr & At fag afoem
iy niafE oW 28 33 A adfewn o
w2a filg Tw gdie o oaorHaE
e =t o

(&) vodfss onst & feesg
(B) widt des o fedaw

(C) wtes < ww doz

(D) Gultss @8 2 & =dh
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154, Tm 0g & =0 w21 Qu v e 160. wis ffis & St e

F’;T it " daEiEnd A fage T

{{Ej s (A) s 3 3 e

(C) Wy whe 2w {Ejﬂﬂ’rﬁlil’iﬁ'?‘*ﬂﬁ’lﬂﬁ"ﬁﬂﬁr

155.

156.

157.

158,

158.

(D) qg wmes wv

g witely w6 = Faeeh
= v fymd &= b

(A) mafis Bfm 3 frmes M g
(B) waim fvm 3 wellew fw
(C) Tomws Mw dF & wime oo
D) 2 47 fte 3 wofiter

Urrd! e et gaow @ B =
= &t &

(A) wiEE Fher Fard

(B) ot afr

(C) Yt e

(D) sos wilty

Wﬂhﬁ??ﬂfﬂ'mmw
fan == g =

(A) T=7 Bfosr mm

(B) fat =fm m

(C) vwoe afs =

(D) e 72 wfow 7

Ty wdlvd B9 fourd swravig wid
ToEE Aeet ¥ famae 3 fremw o
wEEg fane awst &y flee &

(A) %= v iz

(B) TH Fgw wiEd

(C} 7T fiwr Su5

(D) wewita fitw &

U w7 ‘moe frod 50 By 7w 2
¥0 Wewww FRT § WET uE &
(A) Towes 2w (B) afamra
D) # 3 amffy

(C) Twmas

161.

162,

163.

164,

(C) HARITSS 3 T gt
D) femwe ot 3 adfeat

Ut Be w7 o 2 e de o
(A) Y& W duwr

(B) wdefinr wix a3

(C) M= w3 2

(D) st w3 st

TERATE T Aesy faw ue w b
(A) gt pree
(B} @ wyeie
(C) mat dyefe
(B} e

B B aw w oad e St

gt 1 gar 11
B, gEer an Rt 1. 16 17 weh
hﬁ!ﬂm 2. 159 5+
C. g9 g 3. 155 met
d 95 waw & 4, 0@ w

a b ¢ d
a1 4.9
B3 4 2 1
€3 2 1 4
D)4 2 3 1

FEmE 5t & A

(A) 7o w3 = ol
(B) = W = wowg
\C) Fuww = wg=i

(D) == 33 = gorf
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165, A&} fefemrs witvis yast & Hits 2
(A) foom fefamis T femwsr
B) =w fefimrs T whm wles
(C) Jwe 3 daawee
(DY mmt wwEE 3 vroamee

166, &7 yHo Bvx fiw =07 wodwues &t B
(A) miimrfe d5 2 wifsr
(B) Eun 3 ol
(C) Tv o I yrga 7l
(D) fesmam T wifir

167. la7 o fefimrd & 52 & weow
T gt e ufreess = mey
it wh

(&) =@ wos s
B) e ¥ vy
(C) =g iy g

(D) ahfee Wy ywra

188, whe va wage & femad o=
(A) 7 faowr vl & fifs = w37
B) &=5 ¢ =ity Guew
(C) reddts T vl Buew
(D) velis Qura T e uedts Bueg

168. ﬁﬂﬂwﬂﬁmﬁﬁﬂﬁ
i

(A) miewema Moo & feme

(B) wimrers fofem 3 ey foerw
(C) wiraws fofsom 2 S5dt fekes
(D) riswmamas fofies 3 8 62

170, "wy 3 gant 3 i dor o mem
& wH dadl e wlt gr @t &
(A} i) (B) ek
(C) vemae (D) weavw

171

172

173

174,

¥75.

178.

177.
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g e gu @ A
(A) Tonan s wolech
(B) fomen 2 wewww TwF &

{C) ﬁﬁﬁﬂ-ﬂﬁﬁ'ﬂﬂ‘ﬂ‘?ﬂ?ﬁ’jﬂn"ﬂ
TS wiEHT Iadt

(B) et domw ¥ 3w oot G
Wy 9 wiaw o feodt ast

o 5w &
(A) wsr (B) TEnyar
(C) e (D) =

fam oo e Fesog 3w
HTEd ©f gFE emm

(A) Ty yamdt (B) war Apnds
(C) T4 =6z (D) = 2

st fimr afe & St o
(&) w7 7t & 7R

(B) vem = mi

{C) wiaww & wir

(D} wie w doftes = it

=Y wfae s A et et as
(A) #A"w. ¥=% oo miw fea
(B) =W A, mww i, ffensw mew
(C) omw Pt ==& g5, Arw
(D) weT g+, O yon M s

fewwws, gar uew Bt mores
e &t &
{A} "t
(C) #.4

(B) #-nl
(D) #am

WoE Hasy = oAby i osE P
(A) Py fefimes s

(B) du Ffamme 5

(C) mow 7ar fefomes a

(D)  Guamwr fefomrs &z
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178, dhiur el = iz fam wm & 184. 85 fedi fifimrs & By desw o
(A) T & i i (A) Fenrftor s, wamd
(B) i =t o yFt fim T, v P i
(C) fefr & somdt W il radlE Wie foan
(D) =7 & &= ydt g [E]m . £y
179. wtareds @ wingr fom = 1 W o, i
o foust, fomeaw
(A) P wiEs fe femwerdt o (D) Poute &, weds afe
(B) i fendvz 7 9% o s oo
= 185, 'vFz Etoow BT
C) Wit fera . 9 wer 9 O
[JE&’.HET fee o fagz Bt we 2 &
(D) sl it B 27 2w o e i
(8) sm=at
180, femre wmae 3 dedt o P (C) frety
e i e (D) woms
(A) (B) wuredisss
(C) wewr (D) yames 186. ¥ wiwy wagr yay feae® fads
181, = Qur werfe afe su on S i) e e
(A) wem shafl e 28 23 few &2 foime om
(B) === wihadi, OF, dough, & whudt (A) 4 (B 7
(C) Woedt, a9, wramwm, 3 (C) 5 (B) &
(D) O At fom 0= wam
; ‘ 187. ﬂHTHE'EEﬂHﬂHHW?Hﬂ'ﬂ?ﬂ
82. Wi T wim v B o 1
i S
(A) TR, vt wom T e, e ot i
(C) wmdt =t waftar R
[B) wysh wraedd d5 iy wd g D) fewwa A i
(C) ug 9w =t vy svEes ) e
O 1 A
0) W wms - Qe 188. #ﬂseraﬂg?E?HW';H
183, &7 whm Dl Cr R E B i
?ﬁuﬁuimﬁﬁfi@ I giivr mmar Ry 7 |
(A) TerEdhma, mioas, Aiaa o il iy
(B) wham. B3 wema, My (A) ez
(C) T, wimweyzas, dehne fmes (B) ¥ioww G5 we =
(D) &= vz fevayma (©) w
f e ey (D) fomm vt =
Ax a0
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189. wyit mfvw % 9 o 3adw o 49
(A) T T me fiee, e
(B) fomrm wov. wow e, e
(C) oW wau fawrs, Zaw e
(D) wew famms mou @=n e

180, TOHT WEH'T JEW © wEw o) 3o
(A) TlEndt fers wame du
(B) 77 ¥ fe=r wgpw dum
(C) ¥& & s wiggw dmr
(D) =Mt fewrs wapie wwnfis e

191, fan vo& & 97 o5 3 fare
AiE et fime 30 g B

(A) #res & w7

(B) fsut < wny

(C) w5t <t o5

(D) “ownmfut = adahee

1592, e T faud usedt semaw o
goanet e Uwet fiew, olesles
Hawer i guizhe 44 29

(A) weam dos (B) Tusly ¥¥
(C) wens e (D) ooz wars

183, TE"HE’E’E‘EFHT!H?EE"ETHH
it & o
(&) felfowe wesw' we Wil fesaig
(B) AuE Rinregs T w8
Hiffiy gty
(C) ¥ § Y5 ws i femgrs
D) g it o3 st
il faagte

184, uUv T 3 5t e 3
{A) THedt mader o wesh
(B) 7wl modlet 3 mdasa
(C) T8s= do=r tow
(D} Baawit == dog
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186.

187.

198.

194.

200.
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ATE A U ¥ Sl Oy o
(A) wimg ez, vam, ol
(B) wvfinr, finig, Ao, mar
(C) a=btw, i, vam s
(D) fme. ot o e

B Ta @ e ey e St A

(A) 8= »ees & AfmvrTdiass B
(B) " ¥ wEditer 3 wr  ww i
(C) #7 femew o soawas maum

(D) #7 Wivs T whtmoafr frmes

e gfenrel Wiy ol a9 et o
e derd g
(A) w3
(C) nriia

(B) w0=a
(D) fge

HE QuT uRset udw 0E fon o
W Gue = aaa Ay

(A) =avaE

(B) witass Faw

(C) =oa =

(D) Ay=s Faa

g9 wer FEEt 2l O el g ol

e TR O ohw, die w owel 2eh -
fEEETEL'i'd‘Eq'mTﬁT-I'EﬂLE‘?

AT wadim! as
(&) wEmE

({C) wawa

(B) =tz
(D) waftaz

QUEE = AT ¥ v 3
faoT 2 =t 3y

(A) umh, amife Al

(B) Tvene, sfamrw, spoaw
(C) vt mf, Fmmnd

(D) = wid, e
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IMPORTANT INSTRUCTIONS TO CANDIDATES
FeefteaTit @ fem wevergot s
11. This bookis! contains 32 pages. 1, wafEmd a2dad |
12. Ploase check all the pages of the Booklst
" earetuliv: | of dafect, * 12, :Hﬁﬂi‘#ﬂﬁ'ﬂﬂﬁ{hﬁﬂwﬂ |af2
o it for raplanement of s Booidet, | el ABIse S R kst

14.

15.

L

18.

Directions : Each guastion or incomplals

-statemant s followed by four altarnative

suggested answors or completions. In sach
case, you are raqulred o select the ona that
cormectly answers tha quesiion of complhetes
he statement and blacken (@) appropriats
circla A, B, G or D by Blua/Black Ball-Point Pen
against the guestion concermed In (he
Anawer-Sheel. (For V.H. candidales
corresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriate
circle against sach questan, The clrcle should
be shaded completely without leaving any space.
The comacl mathad of shading & given below,

r @Efi.E'T' f"-"!*:'dé.!

The Candidate must mark Ks'her response
after careful considaration.

Thare Is only ona corocl answer 1o sach
gquastion, You should bBlackan (@) the circle
ol the appropriale column, viz, A B, CorD.
If you Macken (@) more than ane circle
againal any one quesicn, the answer will be
irpaied as wrong. If you wish o cancel ary
answor, you should completely erase that black
rraark in tha circle in the Answer-sheet and then
blacken the clrele of mvised response.

. A muching will read the coded information

in the OMA Answer-Sheet. In case the
information is incomplate/different from the
information given in the application form, the
candidaturs of such candidate will bo frealed |
a5 cancefed.

Lige the space for rough work given in the
Question Booklet only and not on the
Answer-Sheatl.

You are NOT required to mark your answers
in this Booklet. All answers must be
indlcated In the Answer-Sheel only.

13, Frm : wals W 9w Weles Sl e i A
ST T 7R [0 W g T R | e
f e Fidt u ) T R W) e e
F T FEE S S -
ol I e @W A, B, C W D® e W
FiA! AA-Tg=2 99 B F (@) FEAT R
(giemniim Fwimant & fFm dam e
Ferfirm T =men B =)

14, WFR W i A 3 g W e we s
3o ford | e = e = v e faifea it |
Fareifane w1 1wt el < e mn @
T e ST I S HE R
i om =y, |

15, Wed® o w1 ke ow ol g b | s
wafas wiem w9 A, B, C T 0 ¥ e
Wi = e (o) T # o e e
B TF H S TR @ w60 () @
ST T T A e | 4 g
T AT HIRA # A S 38 - & I e
R T TR g e e d e et e
T s T, VAT S 0 e 2

16, siow s am—gfie 3 wf o g2 g

vk mefi waft |l e sl @ onrn ande

o # i g & fiem 3, 948 o )

wvafila Fea Fws aw |

T T o (o, e W U A I T A

W | IR O A

18, 30 qivhe & s Ias) T sifea T
W d | e Tm-afrE d A |

17

Go through Instructions given In Page No. 1 (Facing Page)
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